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>>p=[1-2 -1 2 0]
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Command Window

»>>» roots(p)

ans =

-1.0000

2.0000
1.0000
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>> pp=poly(r)
pp =
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A(x)= X>+2x%+3x+4



B(x)= x° + 4 x*+9x+16

>>A=[1 2 3 4]
>>B=[1 4 9 16];
>> p=conv(A , B)
P=

1 6 20 50 75
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P=x%+ 6x° + 20x* + 50x° + 75x° + 84x + 64
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. ployval( p, x) -1

p 2saall 3aria A& x dad (aysed e Jaxi Wibua sy = polyval (p, x ) Witea 5855

>>p=[3 2 1];
>> t= polyval(p,5)
i=

86

>p=[2 0 0 2]
>> polyval(p, 4)

Ans= 130
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>>x=[1 4];
>> polyval( p,x)

ans =

4 130
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>>a=[1 2 3];
>>b=polyder(a)
b=2 2
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>h=[3 5 8 9];
>> d,=polyder(h)
di=
9 10 8
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Command Window

=> h =[3 5 g a]:
»>» dZ2=polyder (h, 2)

dz =

- factor(n) =)
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Command Window

»» Factor (1l26)

ans =

2 3 3 T

»» Factor (1l2342)

ans =
2 3 11 11 17
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>>syms x y

>> factor (x*3-y"3)

Command Window

> Syms X ¥
»» Ffactor (x"3-y"3)

ans =

[ x - v, x™2 + x*y + yv~2]

Ans= (x-y)*(x"2-x*y+y~2)
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F =3 1 () Al Auuial Ul (S 36l & edbadoiial
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>> syms X
>> gsymsum(1/x"2,x,1,inf)

ans = pi*2/6
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>> clear; clc
>> syms X
>> gsymsum (1/factorial (x),x,1,10)

ans =9864101/3628800
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>> clear; clc
>> syms x Kk
>> symsum (x"k/factorial (k),k,0,inf)

ans =
exp (x)
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>> syms x iS5 ol syms ('x')



>> diff(x"2)

Ans=2%*x

>> syms x
>> diff(sin( x"2))

Ans= 2*x*cos(x"2)

clear; clc
Syms x

p= xX"3* (2*x-exp(x));

pl=diff(p,1)
p2=diff (p,2)

Ans.

f(x)=sin(x® ) Ll sl Jladall 1Y) dEiid) as ) 1 200

X2 (2x - €) AU (g adl laiall Al 5 Y1 Adiial) as ) ;300

pl =3*x"2*(2*x - exp(x)) - x*3*(exp(x) - 2)

P2 =6*x*(2*x - exp(x)) - x*3*exp(x) - 6*x"2*(exp(x) - 2)
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>> Syms X
>> int(exp(2*x))

Ans = 2*exp(2*x)
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>>syms vy
>> int(sin(y))
Ans=

- cos(y)
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clear; clc
Syms x vy
I=int (1/ (1+x)"2,x) *int (y, V)

Ans.
I = -y"2/(2%(x + 1))
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f (1/(14+x)"2)
I (1

y*
=int (int (£, x), V)

Ans.
I = -y*"2/(2*%(x + 1))
int(f, a, b) 2asall Jalsall -2
[25, 30] 358l cos(x) Al Julss as s 1w
clear; clc

Syms x
int (cos (x),25,30)

ans= sin(30) - sin(25)
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Syms x vy
int (1/(1+x)"2,%,1,2)*int(y,v,1,2)

ans=%

or



ans=1/4
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>>h=[6 30 80 144 138 72];
>> g = polyint( h, 50)

g=

1 6 20 48 69 72 50

g=polyint(h) LUS (Saa | jia s jitay Cylill dad 2aa5 &1 3

2
d° e z 3. dxd
1.7(x e) Z.H'y x cos(x?*)dxdy ”(X+1 > axay



